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GOKBEM BB S (ZE—-HFEA)
28 P2 i PR &R FI 8 FERE
= (B/E)

B i 1S 6-10 6.9 - 8.3 7.8 =
HHEE (mg) 100 <30 <30 =
B E (mg/) 10 Q-2 2 =
Wi SR (mel) 2000 | 343 - 1200 677 5
MALPIEEE (mg/) 10 <0.5 <0.5 1=k
S E (mg) 0.1 <0.04 - 0.041 0.04 =
RO EIRSEE (me/) 100 <15 - 78 28 =2
s (mg/) 20 <10 <10 =
s (mg) 0.5 <0.3 <0.3 =
BWEREMAE (mg/) 1 <0.6 <0.6 2
FHEMER (mg/) 15 <7 <7 =
{EEFHE (mg) 2,000 | <100 - 153 122 =
A&k E (mg) 200 <20 - 35 26 =
e (0) 43 29 - 32 31 =
T V8 (mg/l) # ; )

EEeB

fH - (mg/l) 2 <0.4 <0.4 =
# (mg/) 5 <1 <1 =
% (me/l) 0.1 <0.1 <0.1 =
#& (mg/l) 1 <0.3 <0.3 =
#i - (mg/l) 2 <0.5 <0.5 =
$i (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 =)
7K (mg/l) 0.05 <0.05 <0.05 =
# (mg/) 2 <1 <1 =
PR (mg/l) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 =
$¥  (me/) 2 <1 <1 =
HEEEEEH## (mg/) 10 <7.0 <7.0 2
Bl (mg/) 5 <1-12 1 =
#  (mg/l) 10 <2 <2 2
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B2
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/)) 0.01 <0.01 <0.01 =
HAEZBE (mgl) 0.01 <0.01 <0.01 =
BRI EY
T (mgl) 0.1 <0.06 <0.06 =
EHEEILEY -
1,1,1-= & Z ¥t (mg/l) 0.05 <0.025 <0.025 =
EZN
% Gk 7K & (mg/) 0.003 <0.003 <0.003 =
T 5T M A #
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28 122 il PR FE G R S 5 8 TFERE
(e ) @ (/&)

() =+5rgE7E @
ks (kg/0.5h) 0.58 0.00 - 0.03 0.00 v
— &1 B/ (kg/0.5h) 3.86 0.02 - 2.00 0.22 v
EifE  (kg/0.5h) 1.16 0.00 - 0.23 0.02 v
@ALE (kg/0.5h) 0.08 0.00 0.00 v
ALY
(ML Z & 1| &) 771 0.81 - 4.08 1.68 v
(kg/0.5h)
495 M TR (ke/0.5h) 0.39 0.00 - 0.05 0.00 s
— & L% (kg/0.5h) 1.93 0.00 - 1.31 0.10 v
() Al ©
s (kg/day) 9.25 0.02 - 0.43 0.06 v
— AL (ke/day) 46.27 3.30 - 19.86 10.17 v
Bile (kg/day) 9.25 0.06 - 3.37 0.76 v
#AL&E (ke/day) 0.93 0.00 - 0.01 0.00 v
A1y
(L= & 16 & & &) 185.06  |56.99 - 101.80|  79.24 v
(kg/day)
H4H ek (ke/day) 9.25 0.01 - 0.17 0.05 s
— &b % (kg/day) 46.27 0.74 - 10.46 4.63 s
(A)  FEAtn

e 122 il PR & R TFERE

(Hem )@ (/&)

= = PN
e b et 0.93 0.039 &
BEELEY
(MFLE & H) 0.73 <0.006 v
(kg/h)
B% & (DA % 51 &) (ke/h) 1.45 0.103 e
AR E (DA R (ke/h) 0.21 <0.006 s
B RGEAEE (kg/h) 0.19 <0.007 yss
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(kg/h) 0.0019 <0.0003 =
EE$BCE_E) ©:

il (kg/h) 0.0023 <0.0001 ye3

FuaeEEGE _HNHEs =

(ke/h) 0.019 <0.0020 TE

7K (kg/h) 0.0019 <0.0001 =

TEEFE (ng/h) 2,891 67 =
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28 P22 | IR &R S8 fFafRE
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e A _ =
% 1 (7K) (TR ) 12.3 - 12.7 12.5 =
30
i} AN 9 _ _ =
FEEeE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 - 0.02 0.02 =
$E4EE (ppm) 10 <0.5 <0.5 y=3
#i  (ppm) <0.5 - 4.0 1.3
#7 (ppm) <0.5 - 34 0.5
#r  (ppm) <l - 4.1 1.1
¥ (ppm) <0.5 - 4.0 0.94
o~ 85~ 3 - Y -
W8 (ppm) 25 <25 - 84 3.9 E
# (ppm) 20 <1 <1 =
WAEY) (ppm) 10 <5 <5 =
A E (ppm) 10 < - 45 2.2 yiss
LY (ppm) 5 <5 <5 =
B8
H D A A
Ti?’x M F %Y & 5,000 <15 <15 =
= (ppm)
H ERA < _
(ppm) 10 <5 <5 =
HIE K By 42 = o
(ppm) 2 <2 <2 =
% WK (ppm) 1 <1 <1 =
TCDD (ITEF %) -
(ppb) 1 <] <] =




